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POLITICAL SCIENCE
Paper : POL0300104
( Perspectives on Public Administration )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8
©eTS A fRe IRt Sae foan

(a) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the na*ire of public
administration?

CIP-PPFR - 2P o oRoemEe
TSI 218 Bt R @RS Te
SfeeTee 31 (7?2

i) Simon

KA
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(b)

A25/248

(2)

(i) Smithburg and Thompson
PRl = Y=oEw

(i) L. D. White
o=, . RiD

(iv) Luther Gulick
AR S

( Choose the correct option )

( o= Rewm AR e )

Who of the following is regarded as the
father of Public Administration?

R (PRI G- e fBors 19
FTWW?

i) Dimock
v

{i) L. D. White
e, f. e

(i) Willoughby
Tl

(iv) Woodrow Wilson
Ngeafe oz

( Choose the correct option )

( o5 Reshr AR S )

( Continued )

(c)

(d

(e)

A25/248

(3)

The term ‘scientific management’ for the
first time used by Max Weber / F. W.
Taylor / Vincent de Gournay / Louis
Brandeis.

‘AT AREEET RS dRRY AW W
@R / 9. TFS, GoR / et ft @y /
2o @fis IRz IRfRA |

( Choose the correct option )

( o= Rescor IR Sfasar )

The word ‘promotion’ is derived from the
Latin word ‘promovere’.

‘Promotion (*TWRA(%)’ ¥ Bl ‘promovere
(CATATSR)’ T3 Ao >R (A1 SR |

( Write Yes or No )
(TWEfr)

“Women have been hidden from
history.” This was said by Simone
de Beauvoir / Sheila Rowbotham /
Mary Wollstonecraft.

‘IR [ET oM AR I IR $3
Cfet e o @ Reemm 7 o
@RI / R CHBTSD |

( Choose the correct option )

(o Rt i Shiea )
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(9)

(h)
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(4)

What is meant by 3E’ in public
management?

@R - ‘3E’9 & @ 2

There is provision for organization of
Public Service Commission in the Article

31S / 316 / 321 / 322 of the Indian
Constitution.

SR FRYFT 03¢ / o5 / 033 / 0y W
ICRTS (PR STt S5 R 47 ¢z |

( Choose the correct option )

(= Reach MR Sforea )

Which one of the following is not an

aspect of overlapping feature of Riggs’
Prismatic Sala model?

TR @G R Befie e weew
SRSl (AR bt fier v 0

(i} Nepotism / T (o[ NS

(i) Poly-communalism / Ig-Sreemfise
(iii) Formalism / WA Sfyer

(iv) Poly-normativism / Igu=-Rge

( Choose the correct option )

( o= Remcs AR Sfrear )

( Continued )

(5)

2. Answer the following questions (any six :

2x6=12

ToR AR T i (R e =) -

(a)

(o)

(c)

(d)

(e)

A25/248

Write two principles of human relation
theory.

TR TR oG 01 NS for o

What is meant by ‘politics-adminis-
tration dichotomy™?

FEAS AF PR fB-Rem’s 9l {2
Mention two obstacles of good
governance.

-2PTRY 01 14T STE 0 |

Mention two problems of personnel
administration.

Rl 2P B! T SeEd 40

Write two merits of seniority principle.

cebe ST 1 @ foram

Write two differences between new
public management and new public
service approach.

T ER-IREE WE T TR-C
RS o1 ~nefF foray 1
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(6)

(g9 Write two human aspects of scientific
management.

F@fE AR o1 T T B

(h) What is new public administration?
TG EARF-2PIE 32
(i) Write two similarities = between

public administration and private
administration.

IR PP TF (IO AP TS I
7o1 e faret o

() Mention two aspects of Max Weber’s
bureaucratic theory.

T (AR AAROGE OF 7o e Sray
1

3. Write short notes on the following (any foun :
5x4=20
oo fACAIeT 8o by GGR forn (R e wifdb) -
fa) Neutrality in public service
-GS ATl

(b) Evaluation of scientific management
theory

CR ROl O

A25/248 ‘( Continued )

{c)

(d)

(e)

(9

)

A25/248

(7)

Feminism in public administration

CF-2HPTTS AN

Importance of public administration in
modemn State

YT AT EIF-2PTE EFY

Disadvantages of indirect method of
recruitment

AP AT TSI SCIIDHR
Differences between integral and
managerial views of public
administration

CIF-2MPTR Sfen ReR o ARvEAEe
RS WO NYFPRR

Features of good governance

2R (IRBREE

Henri Fayol’s classical theory
A R I T
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(8)

4. Answer the following questions (any fwo) :
10x2=20
worq 2PIAAA Bal T (R cotean o1)
fa) What is public administration? Discuss

its growth and evolution as a discipline.
2+8=10

@F-PPE 7 Sme R ol TR
Beoifes S Rt SCEDT 4

(b) Critically evaluate the human relation
theory.

TARS 7=o¢ SO SICAGILF T 41 |

{¢) What is training? What are its kinds?
Discuss any one of it. 2+2+6=10

ofred 57 TR IR B R TR R
CRICT O] fRATT SCeo 3441 |

(d) What is new public management?
Discuss its salient features. 2+8=10
T EF-IEEe B0 WR O Smeeny

CAFBPTR SICaTo 1 |

{e) Evaluate the ecological approach of Fred
Riggs.
@ R *Reers giesAice! e 41 |

* % *
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